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A+B+C=180°TdH 576, A=180°—(B+C) Th %,
o =sin2A=sin{360° - 2(B + C)}=—sin2(B + C)
a® =sin? 2(B +C) = (sin2B cos2C + cos2Bsin 2C)?
=sin? 2B cos? 2C + cos? 2Bsin? 2C + 2sin 2B cos2BAsin 2C cos2C
=pB% +y% =sin? 2B +sin? 2C
2sin 2B cos2Bsin 2C cos2C —sin? 2B(1— cos® 2C) —sin? 2C(1—cos? 2B) =0
2sin 2B c0s2Bsin 2C cos2C —2sin? 2Bsin? 2C =0  sin 2Bsin 2C(cos2B cos2C —sin 2Bsin 2C) =0
..sin2Bsin2C cos2(B+C) =0

sin2B=0, F721Fsin2C=0, F71Fcos2(B+C)=0ThHH1H
2B=180°, F7-112C=180°, F7/21Z2(B+C)=90°. £7-iF2(B+C)=270°
B=90°, ¥7/2iZC=90°, £7/XiIB+C=45°, £72/FIB+C=135°
A=45° F7/2I1TA=135°, F721EB=90°, £7/iLC=90°
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A=45°D L& B+C=135° LV, B=135-C

a®=sin?90°=1 B2 =sin®(270°—2C)=cos* 2C  B% +y? =cos® 2C +sin? 2C =1
A=135°D L& B+C=45°kV, B=45°-C

a®=sin?270°=1 p?=sin?(90°-2C)=cos’2C  f% +y? =cos? 2C +sin?2C =1
B=90°mD & & A+C=90°kY., A=90°-C

B%=sin?180°=0 @ =sin?(180°—2C)=sin? 2C = »?

C=90°D&t& A+B=90°k¥H., A=90°-B

72 =sin?180°=0 «a” =sin?(180° - 2B) =sin? 2B = f3*

L7=o>T, WFNIZLTha?=82+72TH Y. (1)DY LD,

PEIZEY &I E()IFEWZEETH S Z Epnasiiz, GERARK)



